

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000001
 Roll No. 255125792
 Regn. No. 25-DEO-792

Name : NITU SHARMA
 Father's Name : RAM SHARMA
 Mother's Name : MANJU SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	57 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	45 19	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	48 21	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	44 19	40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	36 15	40AG	100	B	6	04.0	24.0
6	MC-106 MARKETING MANAGEMENT	45 19	40AG	100	B+	7	04.0	28.0
	TOTAL	0392		0600			24.0	176.0
	GRAND TOTAL	0392		0600			24.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000002
 Roll No. 255125793
 Regn. No. 25-DEO-793

Name : GURJOT KAUR
 Father's Name : GIAN CHAND
 Mother's Name : KULDIP KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	58 25	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	51 20	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	57 25	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	51 23	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	54 25	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	55 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0470		0600			24.0	208.0
	GRAND TOTAL	0470		0600			24.0	208.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000003
 Roll No. 255125794
 Regn. No. 25-DEO-794

Name : GAURI MITTAL
 Father's Name : SANJEEV MITTAL
 Mother's Name : MAMTA MITTAL
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	52 25	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	53 23	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	59 24	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	48 24	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	59 20	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	56 22	40AG	100	A+	9	04.0	36.0
	TOTAL	0465		0600			24.0	212.0
	GRAND TOTAL	0465		0600			24.0	212.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000004
 Roll No. 255125795
 Regn. No. 25-DEO-795

Name : POOJA
 Father's Name : RAM KUMAR
 Mother's Name : SANTOSH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	61 24	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	56 24	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	60 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	53 24	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	57 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	58 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0487		0600			24.0	220.0
	GRAND TOTAL	0487		0600			24.0	220.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000005
 Roll No. 255125796
 Regn. No. 25-DEO-796

Name : NIKHIL
 Father's Name : ASHOK KUMAR
 Mother's Name : GANDHI RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	53 22	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	38 26	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	41 25	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	44 23	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	51 23	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	50 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0422		0600			24.0	196.0
	GRAND TOTAL	0422		0600			24.0	196.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000006
 Roll No. 255125797
 Regn. No. 25-DEO-797

Name : ANJALI
 Father's Name : ASHWANI KUMAR
 Mother's Name : ASHA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	53 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	38 27	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	49 23	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	41 25	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	46 24	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	42 27	40AG	100	A	8	04.0	32.0
	TOTAL	0419		0600			24.0	196.0
	GRAND TOTAL	0419		0600			24.0	196.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000007
 Roll No. 255125798
 Regn. No. 25-DEO-798

Name : MANISH KUMAR
 Father's Name : SHARWAN SINGH
 Mother's Name : VINOD KUMARI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	46 19	40AG	100	A	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	41 25	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	51 25	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	45 24	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	41 21	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	54 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0418		0600			24.0	196.0
	GRAND TOTAL	0418		0600			24.0	196.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000008
 Roll No. 255125799
 Regn. No. 25-DEO-799

Name : MUSKAN
 Father's Name : MEHAR SINGH
 Mother's Name : BABY
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	52 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	51 23	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	59 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	52 28	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	59 20	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	52 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0467		0600			24.0	212.0
	GRAND TOTAL	0467		0600			24.0	212.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000009
 Roll No. 255125800
 Regn. No. 25-DEO-800

Name : ANJALI
 Father's Name : KULDEEP SINGH
 Mother's Name : MANJU BALA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	61 25	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	50 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	60 25	40AG	100	O	10	04.0	40.0
4	MC-104 COMPANY LAW	49 24	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	61 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	55 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0483		0600			24.0	220.0
	GRAND TOTAL	0483		0600			24.0	220.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000010
 Roll No. 255125801
 Regn. No. 25-DEO-801

Name : VIVEK PANWAR
 Father's Name : S C PANWAR
 Mother's Name : ANITA PANWAR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	64 26	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	51 28	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	60 26	40AG	100	O	10	04.0	40.0
4	MC-104 COMPANY LAW	55 24	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	50 24	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	56 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0491		0600			24.0	220.0
	GRAND TOTAL	0491		0600			24.0	220.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.17

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000011
 Roll No. 255125802
 Regn. No. 25-DEO-802

Name : AMANDEEP NAIN
 Father's Name : SATVINDER SINGH NAIN
 Mother's Name : KAMLESH RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	33 19	40AG	100	B	6	04.0	24.0
2	MC-102 BUSINESS ENVIRONMENT	37 22	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	39 23	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	33 21	40AG	100	B	6	04.0	24.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	36 19	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	38 19	40AG	100	B+	7	04.0	28.0
	TOTAL	0339		0600			24.0	160.0
	GRAND TOTAL	0339		0600			24.0	160.0

RESULT : PASSED AND HAS OBTAINED : SGPA 6.67

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000012
 Roll No. 255125804
 Regn. No. 25-DEO-804

Name : VARSHA YADAV
 Father's Name : DESH RAJ
 Mother's Name : SUNITA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	43 24	40AG	100	A	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	48 26	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	57 26	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	48 21	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	50 24	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	53 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0446		0600			24.0	200.0
	GRAND TOTAL	0446		0600			24.0	200.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000013
 Roll No. 255125805
 Regn. No. 25-DEO-805

Name : REENA
 Father's Name : RAMBHAJ
 Mother's Name : PINKY
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	59 26	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	55 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	60 26	40AG	100	O	10	04.0	40.0
4	MC-104 COMPANY LAW	54 23	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	56 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	58 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0492		0600			24.0	224.0
	GRAND TOTAL	0492		0600			24.0	224.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000014
 Roll No. 255125806
 Regn. No. 25-DEO-806

Name : KAJAL SHARMA
 Father's Name : KRISHAN LAL
 Mother's Name : SANTOSH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	64 22	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	50 18	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	57 22	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	51 23	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	54 15	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	61 25	40AG	100	O	10	04.0	40.0
	TOTAL	0462		0600			24.0	212.0
	GRAND TOTAL	0462		0600			24.0	212.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000015
 Roll No. 255125807
 Regn. No. 25-DEO-807

Name : RITIKA
 Father's Name : RAJESH
 Mother's Name : ANITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	61 25	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	54 22	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	60 24	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	51 21	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	58 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	54 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0477		0600			24.0	216.0
	GRAND TOTAL	0477		0600			24.0	216.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000016
 Roll No. 255125809
 Regn. No. 25-DEO-809

Name : HEENA
 Father's Name : PARVEEN KUMAR
 Mother's Name : MEENU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	56 11	40AG	100	A	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	53 11	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	61 21	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	51 21	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	54 10	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	54 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0427		0600			24.0	192.0
	GRAND TOTAL	0427		0600			24.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000017
 Roll No. 255125810
 Regn. No. 25-DEO-810

Name : MANJU
 Father's Name : PALE RAM
 Mother's Name : SHEELA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	57 21	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	49 15	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	60 22	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	48 19	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	58 14	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	53 22	40AG	100	A+	9	04.0	36.0
	TOTAL	0438		0600			24.0	200.0
	GRAND TOTAL	0438		0600			24.0	200.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000018
 Roll No. 255125811
 Regn. No. 25-DEO-811

Name : PINKI
 Father's Name : RAN DHIR
 Mother's Name : SUNITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	43 24	40AG	100	A	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	35 25	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	50 11	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	32 20	40AG	100	B	6	04.0	24.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	41 21	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	37 23	40AG	100	B+	7	04.0	28.0
	TOTAL	0362		0600			24.0	168.0
	GRAND TOTAL	0362		0600			24.0	168.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.00

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000019
 Roll No. 255125812
 Regn. No. 25-DEO-812

Name : KOMAL SHARMA
 Father's Name : SATPAL SHARMA
 Mother's Name : NIRMAL SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	62 24	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	48 24	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	58 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	49 25	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	56 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	57 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0472		0600			24.0	212.0
	GRAND TOTAL	0472		0600			24.0	212.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000020
 Roll No. 255125813
 Regn. No. 25-DEO-813

Name : ANUSHKA
 Father's Name : DEEPAK KUMAR
 Mother's Name : ANJU
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	53 26	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	43 24	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	49 24	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	55 25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	47 23	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	48 25	40AG	100	A	8	04.0	32.0
	TOTAL	0442		0600			24.0	200.0
	GRAND TOTAL	0442		0600			24.0	200.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000021
 Roll No. 255125814
 Regn. No. 25-DEO-814

Name : VIMAL VERMA
 Father's Name : BK SUMAN
 Mother's Name : SUNITA VERMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	50 8	40AG	100	B+	7	04.0	28.0
2	MC-102 BUSINESS ENVIRONMENT	49 12	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	55 11	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	43 18	40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	53 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	52 22	40AG	100	A	8	04.0	32.0
	TOTAL	0396		0600			24.0	184.0
	GRAND TOTAL	0396		0600			24.0	184.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.67

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000022
 Roll No. 255125815
 Regn. No. 25-DEO-815

Name : RIYA
 Father's Name : JAG MOHAN
 Mother's Name : NISHA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	54 25	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	43 26	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	55 25	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	50 23	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	22 22	40AG	100	C	5	04.0	20.0
6	MC-106 MARKETING MANAGEMENT	53 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0424		0600			24.0	192.0
	GRAND TOTAL	0424		0600			24.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000023
 Roll No. 255125816
 Regn. No. 25-DEO-816

Name : AMIT
 Father's Name : JANAK RAJ
 Mother's Name : BIMLA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	56 22	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	45 24	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	34 22	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	48 21	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	57 19	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	57 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0429		0600			24.0	200.0
	GRAND TOTAL	0429		0600			24.0	200.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000024
 Roll No. 255125817
 Regn. No. 25-DEO-817

Name : SIMRANJEET
 Father's Name : RAJENDER SINGH
 Mother's Name : PARAMJEET
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	52 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	50 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	62 22	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	50 18	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	49 21	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	55 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0451		0600			24.0	208.0
	GRAND TOTAL	0451		0600			24.0	208.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000025
 Roll No. 255125818
 Regn. No. 25-DEO-818

Name : DEEPIKA SONTRA
 Father's Name : MOHINDER KUMAR SONTRA
 Mother's Name : RAJNI KUMARI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	61 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	51 24	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	56 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	49 26	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	53 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	56 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0468		0600			24.0	216.0
	GRAND TOTAL	0468		0600			24.0	216.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000026
 Roll No. 255125819
 Regn. No. 25-DEO-819

Name : HARSHDEEP
 Father's Name : ISHWAR CHAND
 Mother's Name : RANI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	51 17	40AG	100	A	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	42 18	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	49 17	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	51 17	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	51 17	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	56 19	40AG	100	A+	9	04.0	36.0
	TOTAL	0405		0600			24.0	192.0
	GRAND TOTAL	0405		0600			24.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000027
 Roll No. 255125820
 Regn. No. 25-DEO-820

Name : GAURAV CHAMOLA
 Father's Name : PITAMBER DATT SHASTRI
 Mother's Name : INDER BALA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	57 19	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	43 25	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	52 19	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	41 23	40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	47 18	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	40 24	40AG	100	B+	7	04.0	28.0
	TOTAL	0408		0600			24.0	188.0
	GRAND TOTAL	0408		0600			24.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000028
 Roll No. 255125821
 Regn. No. 25-DEO-821

Name : ABHAY SINGH RATHORE
 Father's Name : SURENDRA RATHORE
 Mother's Name : RAJNI KANWAR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	60 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	52 24	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	58 22	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	51 25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	50 19	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	55 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0463		0600			24.0	212.0
	GRAND TOTAL	0463		0600			24.0	212.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000029
 Roll No. 255125822
 Regn. No. 25-DEO-822

Name : NEHA
 Father's Name : KULDEEP
 Mother's Name : SUDESH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	61 26	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	56 22	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	61 20	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	47 23	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	58 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	55 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0473		0600			24.0	216.0
	GRAND TOTAL	0473		0600			24.0	216.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000030
 Roll No. 255125823
 Regn. No. 25-DEO-823

Name : MUSKAN
 Father's Name : SANJAY GUPTA
 Mother's Name : SUMAN LATA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	59 25	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	50 22	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	60 24	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	54 9	40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	60 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	58 18	40AG	100	A+	9	04.0	36.0
	TOTAL	0460		0600			24.0	204.0
	GRAND TOTAL	0460		0600			24.0	204.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000031
 Roll No. 255125824
 Regn. No. 25-DEO-824

Name : NAJMA K M
 Father's Name : MOHAMED
 Mother's Name : RASIYA P
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	59 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	45 25	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	56 25	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	47 27	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	50 22	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	52 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0456		0600			24.0	204.0
	GRAND TOTAL	0456		0600			24.0	204.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000032
 Roll No. 255125826
 Regn. No. 25-DEO-826

Name : BHAWNA CHHIMPA
 Father's Name : DAULAT CHHIMPA
 Mother's Name : MADHU BALA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	60 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	48 26	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	57 25	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	46 26	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	58 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	55 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0474		0600			24.0	208.0
	GRAND TOTAL	0474		0600			24.0	208.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000033
 Roll No. 255125827
 Regn. No. 25-DEO-827

Name : ARJU SINGH
 Father's Name : RAM BABU SINGH
 Mother's Name : GUDIYA SINGH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	04 2 F	40AG	100	F	0	04.0	0
2	MC-102 BUSINESS ENVIRONMENT	AB AB F	40AG	100	F	0	04.0	0
3	MC-103 MANAGERIAL ECONOMICS	AB AB F	40AG	100	F	0	04.0	0
4	MC-104 COMPANY LAW	AB AB F	40AG	100	F	0	04.0	0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	AB AB F	40AG	100	F	0	04.0	0
6	MC-106 MARKETING MANAGEMENT	AB AB F	40AG	100	F	0	04.0	0
	TOTAL	****		0600			24.0	000.0
							4.0	0.0

RESULT : RE - TILL JUN- 2027 IN : FAIL

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000034
 Roll No. 255125829
 Regn. No. 25-DEO-829

Name : AKSHITA GUPTA
 Father's Name : SANJAY GUPTA
 Mother's Name : RITU GUPTA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	30 17	40AG	100	C	5	04.0	20.0
2	MC-102 BUSINESS ENVIRONMENT	41 23	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	43 20	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	31 18	40AG	100	C	5	04.0	20.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	42 19	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	43 21	40AG	100	B+	7	04.0	28.0
	TOTAL	0348		0600			24.0	152.0
	GRAND TOTAL	0348		0600			24.0	152.0

RESULT : PASSED AND HAS OBTAINED : SGPA 6.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000035
 Roll No. 255125830
 Regn. No. 25-DEO-830

Name : PRIYANKA
 Father's Name : RAJESH KUMAR
 Mother's Name : REKHA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	54 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	43 22	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	56 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	47 24	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	56 18	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	55 20	40AG	100	A+	9	04.0	36.0
	TOTAL	0442		0600			24.0	204.0
	GRAND TOTAL	0442		0600			24.0	204.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000036
 Roll No. 255125831
 Regn. No. 25-DEO-831

Name : SANJEEV BHATNAGAR
 Father's Name : NARIAN SWARUP BHATNAGAR
 Mother's Name : CHHAMMA BHATNAGAR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	52 20	40AG	100	A	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	47 23	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	44 21	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	46 22	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	45 14	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	49 20	40AG	100	A	8	04.0	32.0
	TOTAL	0403		0600			24.0	188.0
	GRAND TOTAL	0403		0600			24.0	188.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.83

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000037
 Roll No. 255125832
 Regn. No. 25-DEO-832

Name : DEEKSHA
 Father's Name : KRISHAN KUMAR
 Mother's Name : BABITA RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	42 25	40AG	100	A	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	36 26	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	45 24	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	37 23	40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	43 18	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	40 26	40AG	100	A	8	04.0	32.0
	TOTAL	0385		0600			24.0	180.0
	GRAND TOTAL	0385		0600			24.0	180.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.50

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000038
 Roll No. 255125833
 Regn. No. 25-DEO-833

Name : SADHNA
 Father's Name : NARESH KUMAR
 Mother's Name : SAROJ DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	55 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	47 26	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	49 22	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	49 24	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	50 18	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	54 21	40AG	100	A+	9	04.0	36.0
	TOTAL	0439		0600			24.0	200.0
	GRAND TOTAL	0439		0600			24.0	200.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000039
 Roll No. 255125834
 Regn. No. 25-DEO-834

Name : MANVEER KAUR
 Father's Name : SOM SINGH
 Mother's Name : NASEEB KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	51 26	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	50 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	59 26	40AG	100	O	10	04.0	40.0
4	MC-104 COMPANY LAW	50 23	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	57 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	55 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0472		0600			24.0	216.0
	GRAND TOTAL	0472		0600			24.0	216.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000040
 Roll No. 255125835
 Regn. No. 25-DEO-835

Name : SUNIDHI YADAV
 Father's Name : SURENDER SINGH
 Mother's Name : GEETA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	58 18	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	54 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	58 8	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	49 22	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	51 23	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	54 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0445		0600			24.0	204.0
	GRAND TOTAL	0445		0600			24.0	204.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000041
 Roll No. 255125836
 Regn. No. 25-DEO-836

Name : NISHA RANI
 Father's Name : NARESH KUMAR
 Mother's Name : PARVESH DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	42 23	40AG	100	A	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	37 20	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	37 21	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	39 21	40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	45 21	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	41 23	40AG	100	B+	7	04.0	28.0
	TOTAL	0370		0600			24.0	176.0
	GRAND TOTAL	0370		0600			24.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000042
 Roll No. 255125837
 Regn. No. 25-DEO-837

Name : EKDEEP KAUR
 Father's Name : PRITPAL SINGH
 Mother's Name : NARINDER KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	62 24	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	50 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	63 25	40AG	100	O	10	04.0	40.0
4	MC-104 COMPANY LAW	51 26	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	62 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	57 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0493		0600			24.0	224.0
	GRAND TOTAL	0493		0600			24.0	224.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000043
 Roll No. 255125838
 Regn. No. 25-DEO-838

Name : NEHA L
 Father's Name : SANJAY
 Mother's Name : SEETO
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	62 26	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	42 26	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	56 26	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	47 24	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	57 25	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	57 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0475		0600			24.0	212.0
	GRAND TOTAL	0475		0600			24.0	212.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000044
 Roll No. 255125839
 Regn. No. 25-DEO-839

Name : MAYANK
 Father's Name : MANOJ KUMAR
 Mother's Name : MUNESH DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	62 25	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	49 28	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	53 23	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	51 23	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	51 26	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	55 27	40AG	100	A+	9	04.0	36.0
	TOTAL	0473		0600			24.0	216.0
	GRAND TOTAL	0473		0600			24.0	216.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000045
 Roll No. 255125840
 Regn. No. 25-DEO-840

Name : SHIKHA
 Father's Name : RAM CHARAN
 Mother's Name : KAMLESH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	61 24	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	52 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	60 25	40AG	100	O	10	04.0	40.0
4	MC-104 COMPANY LAW	56 25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	56 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	58 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0489		0600			24.0	224.0
	GRAND TOTAL	0489		0600			24.0	224.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000046
 Roll No. 255125841
 Regn. No. 25-DEO-841

Name : SK SAKIRIN ISLAM
 Father's Name : SK BAZLER RAHAMAN
 Mother's Name : SAHIDA BIBI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	63 11	40AG	100	A	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	55 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	56 16	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	54 22	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	54 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	55 25	40AG	100	A+	9	04.0	36.0
	TOTAL	0458		0600			24.0	208.0
	GRAND TOTAL	0458		0600			24.0	208.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000047
 Roll No. 255125842
 Regn. No. 25-DEO-842

Name : ANKITA RANI
 Father's Name : NASIB SINGH
 Mother's Name : RAM RATI DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	61 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	47 24	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	57 25	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	45 24	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	57 24	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	46 24	40AG	100	A	8	04.0	32.0
	TOTAL	0457		0600			24.0	204.0
	GRAND TOTAL	0457		0600			24.0	204.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.50

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000048
 Roll No. 255125843
 Regn. No. 25-DEO-843

Name : KOMAL
 Father's Name : SUBHASH CHANDER
 Mother's Name : SUMAN RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	61 25	40AG	100	O	10	04.0	40.0
2	MC-102 BUSINESS ENVIRONMENT	50 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	59 25	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	56 25	40AG	100	A+	9	04.0	36.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	57 22	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	63 26	40AG	100	O	10	04.0	40.0
	TOTAL	0495		0600			24.0	224.0
	GRAND TOTAL	0495		0600			24.0	224.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000049
 Roll No. 255125844
 Regn. No. 25-DEO-844

Name : L UMESH
 Father's Name : BN LINGAN
 Mother's Name : L RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	54 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	39 25	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	51 21	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	50 19	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	36 22	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	54 21	40AG	100	A+	9	04.0	36.0
	TOTAL	0416		0600			24.0	192.0
	GRAND TOTAL	0416		0600			24.0	192.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000050
 Roll No. 255125846
 Regn. No. 25-DEO-846

Name : KRISHAN LAL
 Father's Name : KHARAITI LAL
 Mother's Name : RAM PYARI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	62 21	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	50 25	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	58 19	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	44 21	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	50 20	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	57 23	40AG	100	A+	9	04.0	36.0
	TOTAL	0450		0600			24.0	208.0
	GRAND TOTAL	0450		0600			24.0	208.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000051
 Roll No. 255125848
 Regn. No. 25-DEO-848

Name : ANSH
 Father's Name : MAHENDER PAL
 Mother's Name : BALWINDER KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	61 23	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	46 26	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	58 22	40AG	100	A+	9	04.0	36.0
4	MC-104 COMPANY LAW	46 25	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	59 23	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	54 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0469		0600			24.0	208.0
	GRAND TOTAL	0469		0600			24.0	208.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.67

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000052
 Roll No. 255125849
 Regn. No. 25-DEO-849

Name : TANISHKA
 Father's Name : MUKESH KUMAR
 Mother's Name : SANGEETA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	48 21	40AG	100	A	8	04.0	32.0
2	MC-102 BUSINESS ENVIRONMENT	32 19	40AG	100	B	6	04.0	24.0
3	MC-103 MANAGERIAL ECONOMICS	47 17	40AG	100	B+	7	04.0	28.0
4	MC-104 COMPANY LAW	40 21	40AG	100	B+	7	04.0	28.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	50 14	40AG	100	B+	7	04.0	28.0
6	MC-106 MARKETING MANAGEMENT	55 20	40AG	100	A+	9	04.0	36.0
	TOTAL	0384		0600			24.0	176.0
	GRAND TOTAL	0384		0600			24.0	176.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.33

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000053
 Roll No. 255125850
 Regn. No. 25-DEO-850

Name : NAVJOT SINGH
 Father's Name : GURMEET SINGH
 Mother's Name : SUKHWINDER
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	60 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	51 26	40AG	100	A+	9	04.0	36.0
3	MC-103 MANAGERIAL ECONOMICS	60 25	40AG	100	O	10	04.0	40.0
4	MC-104 COMPANY LAW	49 24	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	53 18	40AG	100	A	8	04.0	32.0
6	MC-106 MARKETING MANAGEMENT	60 16	40AG	100	A+	9	04.0	36.0
	TOTAL	0466		0600			24.0	212.0
	GRAND TOTAL	0466		0600			24.0	212.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.83

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000054
 Roll No. 255125851
 Regn. No. 25-DEO-851

Name : CHANCHAL
 Father's Name : TEKCHAND
 Mother's Name : ROSHNI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	59 24	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	48 24	40AG	100	A	8	04.0	32.0
3	MC-103 MANAGERIAL ECONOMICS	62 24	40AG	100	O	10	04.0	40.0
4	MC-104 COMPANY LAW	48 24	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	55 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	61 26	40AG	100	O	10	04.0	40.0
	TOTAL	0476		0600			24.0	216.0
	GRAND TOTAL	0476		0600			24.0	216.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 MASTER OF COMMERCE SEM-01 EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000055
 Roll No. 255125852
 Regn. No. 25-DEO-852

Name : DIKSHU
 Father's Name : INDER SINGH
 Mother's Name : MANJEET KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-101 ORGANISATIONAL BEHAVIOUR	55 22	40AG	100	A+	9	04.0	36.0
2	MC-102 BUSINESS ENVIRONMENT	34 24	40AG	100	B+	7	04.0	28.0
3	MC-103 MANAGERIAL ECONOMICS	42 23	40AG	100	A	8	04.0	32.0
4	MC-104 COMPANY LAW	45 24	40AG	100	A	8	04.0	32.0
5	MC-105 ACCOUNTING FOR MANAGERIAL DECISIONS	55 21	40AG	100	A+	9	04.0	36.0
6	MC-106 MARKETING MANAGEMENT	51 23	40AG	100	A	8	04.0	32.0
	TOTAL	0419		0600			24.0	196.0
	GRAND TOTAL	0419		0600			24.0	196.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.17

DATED : JAN 19,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____